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Il Semester B.B.A./B.B.A.T.T.M./B.B.A.R.T.M. Degree (C.B.C.S.S. -
Reg./Supple./Imp.) Examination, May 2017
' (2014 Admn. Onwards)
Complementary Course
2C03 BBA/BBA(TTM)/BBA(RTM) : QUANTITATIVE TECHNIQUES FOR
| BUSINESS DECISIONS

Time : 3 Hours Max. Marks : 40

SECTION-A
Answer the 4 questions. Each question carries 2 mark.
1. Whatis an event ?
- Explain alternate hypothesis.
3. What do you mean by type | error ?
4. What is analysis of variance ? : ' - (4x12=2)

SECTION-B
Answer any four questions. Each question carries 1 mark.
5. State any four functions of quantitative techniques.
6. State the practical situations where Poisson distribution can be used.
7. What is equally likely events ? |
8

. What is the probability of getting at most two heads while tossing three
unbiased coin ? \

9. Explain two-tailed test.
10. What are the different types of variances ? e (4x1=4)

SECTION-C
Answer any six questions. Each question carries 3 marks.
11. Explain the uses of quantitative techniques in business and indtjstry.
12. Explain the properties of Normal Distribution.
P.T.O.
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13. A sub-committee of 6 members is to be formed out of a group consisting of
7 men and 4 women. Calculate the probability that the sub-Committee will
consist of at least 2 women.

14. Find the probability of getting a total of 7 or 11 in a single throw with two dice.

15. 8 unbiased coins were tossed simultaneously. Find the probability of getting 6 or
more heads.

16. In a town 10 accident took place in a span of 100 days. Assuming that the
number of accidents follows Poisson, find the probability that there will be atleast
three accidents in a day.

17. Given a normal distribution with mean = 40 and SD = 10. Find the value of X that
has 15% of the area to its left.

18. The average life of 26 electric bulbs were found to be 1200 hours with a standard
deviation of 150 hours. Test whether these bulbs could be considered as random

sample from a normal population with mean 1300 hours. (6x3=18)

SECTION-D
. Answer any 2 questions. Each question carries 8 marks.

19. The theory predicts that the proportion of beans in four given groups should be
9:3:3: 1. Inan examination with 1600 beans, the numbers in the four groups
were 882, 313, 287 and 118. Does the experimental results support the theory.

20. The following table gives the yields of 15 samples of plot under three varieties of

seed:

A B C

20 18 25

21 20 28

& 22

16 15 28

20 - 25 32
Test using analysis of variance whether there is a significant difference in the
average yield of seeds.

21. There are 100 students in a College of which 36 are boys studying statistics and
13 are girls not studying statistics. If there are 55 girls in all, find the probability

- that a boy picked up at random is not studying statistics. (2x8=16)
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Il Semester B.B.A./B.B.A.T.T.M./B.B.A.R.T.M. Degree (C.B.C.S.S.-Reg./
Supple./imp.) Examination, May 2017
(Core Course)
2B02 BBA/BBA (TTM)/BBA (RTM) : BUSINESS ENVIRONMENT
(2014 Admn. Onwards)

Time : 3 Hours : Max. Marks : 40

SECTION-A
Answer the 4 questions. Each question carries Y2 mark.
1. Define business environment.
2. What s political environment ?
3. Whatis liberalisation ?

4. WhatisanMNC? = (Vax4=2)

SECTION-B
Answerany fdur questions. Each question carries 1 mark.
What is franchising ?
What is disinvestment ?
What are political institutions ?

What is preamble ?

R e R L

What is SWOT Analysis ?

10. What is environmental analysis ? (1x4=4)

P.T.O.
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SECTION-C

Answer any 6 questions. Each question carries 3 marks.

11.
12.
13.
14.
15.
16.
17.
18.

Explain important economic system.

Explain the merits of Industrial Policy 1991.

What are the arguments against public sector enterprises ?
What are the objectives of privatisation ? |

What are the responsibilities of business towards Government ?
What are the elements of socio-cultural environment ?

What are the benefits of MNCs ?

What are the advantages of social audit ? _ (6x3=18)

SECTION-D

Answer any 2 questions. Each question carries 8 marks.

19.
20.
21.

Explain the criticisms of disinvestment policy.
Explain the important external environmental factors.

Discuss the social responsibility in terms of consumers, suppliers and government.
: (2x8=16)
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Il Semester B.B.A./B.B.A.T.T.M./B.B.A.R.T.M. Degree (CCSS - 2014 Admn.
— Regular) Examination, May 2015
CORE COURSE |
2B03 BBA/BBA(TTM)/BBA(RTM) : Business Communication

Time : 3 Hours Max. Marks : 40

SECTION-A

Answer the 4 questions. Each question carries 112 mark.

1. Whatis Agenda ?

2. What is motion ?

3. Whatis Quorum ?

4. Whatis Sensing ? | (4x/,=2)
SECTION-B

Answer any four questions. Each question carries 1 mark.

5. What is feed back ?

6 Whatis interpersonal communication ?

7. What is verbal communication ?

8. What is teleconference ?

9. What is E-mail ?

10. What is gesture ? (4x1=4)

P.T.O.
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SECTION-C

Answer any six questions. Each question carries 3 marks.

11.
12,
13,
14,
15.
16.
7
18.

Explain the basic form of communication process.
What are the functions of communications ?

What are the important C’s in Communication ?

Explain the factors influencing work place communication.

Discuss the process of listening.
Discuss the various types of meeting.

What are the main content of a resume ?

Explain the strategic issues relating to effective meetings.

SECTION-D

Answer any two questions. Each question carries 8 marks.

19:
20.
21.

Explain the principles of effective communication.
Explain different types of communication.

Explain the general procedure for conducting a meeting.

(6x3=18)

(2x8=16)



